1) In Brazil, occupational therapy undergraduation courses became recognised at college level at the University of Sao Paulo in: 

a) 1940 

b) 1958 

c) 1969 
d) 1974 

e) none of the above are correct
2) Because of the increase in the number of Occupational Therapy undergraduation courses, the following occurred as a result: 

a) a greater number of occupational therapists 

b) worsening of standards for vocational training 

c) advances in clinical practice 

d) the alternatives "a" and "c" are correct 

e) none of the above are correct

3) When was there a sharp increase in the number and quality of undergraduate programs in occupational therapy in Brazil? 

a) in the last decade 

b) from the 80 

c) between the 70 and 80 

d) there wasn’t an increase in the number of courses 

e) none of the above are correct

4) The Undergraduate Occupational Therapy courses in Brazil, in general, have teaching enviroments and practical classes in the training of occupational therapists. Regarding teaching laboratories:

a) are in disrepair in both public and private universities
b) are very well designed by those having new courses, especially private institutions

c) are better at public universities

d) conditions are not so satisfactory in some older courses and public educational institutions

e) the alternatives "b" and "d" are correct

5) The changes in the performance and training of occupational therapy in Brazil occurred because: 

a) training of occupational therapists in Brazil following the American model 

b) the influence of physiotherapy 

c) the course was extended to university level 

d) the inclusion of the professional in the labor market  has opened up new fields of activity which consequently required transformations in training. 

e) none of the above are correct

6) The need for research  in Brazilian OT practices encouraged academics to seek out further research skills. Is it that:
a) research laboratories in educational institutions are not only home to the research of the faculty’s academic staff,  but also for that of students engaged in masters, doctoral and undergraduate research.

b) the production of research is not a tradition, and so there is are no research labs

c) research labs are better designed and equipped in private educational institutions.

d) research labs are better designed and equipped in public educational institutions.

e) the alternatives "a" and "d" are correct

7) In 2010 the first program specific graduate degree in occupational therapy at the Federal University of São Carlos (São Paulo, Brazil) emerged. This fact: 

a) was due to two other exisiting programs offering postgraduate study for occupational therapists and aides. 

b) is a reflection of the demand generated by more qualified teachers and the ability to develop research and knowledge in occupational therapy in the country. 

c) was due to a number of federally funded programs encouraging the expansion of higher education in Brazil. 

d) the alternatives "a" and "b" are correct 

e) none of the above is correct

8) In the mid-2000s, the federal government created a number of higher education programs in Brazil. Regarding this fact, it is correct to say that: 

a) there was a decrease in the number of occupational therapy courses funded by the government in the country since the courses in the Southeast were extinct. 

b) new federal universities were built in areas where there was little chance of higher education and increasing the number of vacancies in existing ones. 

c) still remains a concentration of universities in the Southeast, already established by conditions of wealth, culture and skilled human resources for higher education. 

d) there are an equivalent number of public universities in the Southeast, Midwest and Northeast. 

e) the alternatives "b" and "c" are correct

9) According to the survey, it was found that the structure of the courses, in general, involves school clinic and / or institutions already established in the community (schools, clinics, hospitals, businesses). In this regard is it correct to say that:

a) Such spaces provide student practical activities.
b) The physical structure of these spaces has proved inadequate without changes in recent years, and mostly fall short of the desired modernization.

c) These spaces provide care to the local and regional community, extending the teaching of university in a community role.

d) the alternatives "a" and "b" are correct

e) the alternatives "a" and "c" are correct

10) This study provided some information about Occupational Therapy courses in Brazil. Among this information are: 

a) the increase in the number of courses over the years and its distribution of courses across regions of the country. 

b) the extinction of courses in private schools. 

c) the influence of poor teacher training for the profession of occupational therapy 

d) the number of studies and articles published in research laboratories coordinated by occupational therapists in the country 

e) none of the above are correct

